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second class particle

⇓

⇓

second class particle = jeu de taquin
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jeu de taquin applied to T gives two pieces of information:
trajectory p(T ) of jeu de taquin,

the new tableau J(T ),
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if X0,X1, . . . are i.i.d. U(0, 1) random variables then

RSK(X0,X1, . . . )
distribution

= Plancherel measure
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main results

slope angles θ0, θ1, . . .
(and hence asymptotic speeds of second class particles!)
exist almost surely,

they are independent random variables with explicit
distribution,

RSK is an isomorphism between the dynamical system of shift
and jeu de taquin,

jeu de taquin is an ergodic transformation,
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